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( Inorganic Chemistry I
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1. Choose the correct answer from the
following :

of Printed Pages-7

3 SEM TDC CHMH (CBCSI C 5

1 x5=5

(a) Which of the following acids results
from better hard-hard combination?

(Turn Ouer )
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to¡" 'ü
-to
oF
)aAa
o(¡'X-
Pp-
HH.

vvA'

$. oA
\^x 9P
S H)É
o

+
'Ú
t\)

s
N ñs{

8'9 9, €
?-AT
€a^Ndt tr i-a '+ooajatso
ixc
**áol.f o p
É o 5
H-¿-.
- t-fp e-{
FDr+.rAB T F
H H M5* H
nrPH;

€ -ü d
ñ " ¡i';V)AAA
r-ú,H

EROP
\l 'J =' ='sf Xr.'Xf, 6 **ó
d+Y Prt
I ?'6' :Ü €'
orP\t tl

!+



snssr
Ftr FFS i#ñ' fr !'- B
-.* !i- owÉ)É'd REp S6Í HFh N5a:'iqB ñ,o ? -
". oB A o\
o .l *io X'trE' ! X -60. rl -a

ó-t' I ñ oA H' +aoPF*il" tP, r"'X' q - a'.iÉ o FFB T.F 3-*É g.P #
T ''E T4'n ?t't\)t\)(,ililtl(¡) ü) O

ñta

ñs-

q8g IH tÍ+3 ñ FH TH
sE $ t k I f
E.A o ; aé e
í'*F-^'\)Fl-trH fr"qF

B E ilg=ñilq e"i I s4R qhl",
E i ?.*," g'Éñ. 'bF*l
F6

qf i6 Fd
9 E FB á.3
E E H H; 

H8!. E5A=
Y*F vFqE á

TT
(, (J)

o

(,
{o
Ft

o

o-t
ñ
.t

ñ<.
;i'

B
r+Fo
a

3.
@

Ece Ff
o\N¡6
H É- R 3',gE6mT
x(DnFttoÉ
Hñ-'otiñsra
AA

Édil\¡
f+
O^-55

p
¿

$É

^
I
Ft

Ht+
ST
x re

N
il

(¡)

+
*
+

'UN
o)

I
IN

Ul

o
+
N)

o)
U)
trt

-)
U
o

6
oe
o
(Jl

ñ
s3

'oN(,
+FlJ .p

eceS
ohr |ar +lAAFo9^% 5x.Y),yo

\JNsAO v-
oo Ft

tr
og
Ioa

o
JF*. +
JtsS+OH
O.il
-(,


